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KUNAS OBLUAS KUNAS OBLUAS KUNAS OBLAS KUTAS OBLUAS
A 301 3 40,60 m* 48,85 m’ A 311 3 40,40 m’ 48,61 m’ B 301 3 64,50 m® 77,34 m’ B 311 3 5560m° 66,67 m’
A 302 3 37,20m° 44,76 m’ A 312 3 43,30 m’ 52,10 m? B 302 3 5470 m° 66,50 m’ B 312 3 53,90m’ 64,63 m’
A 303 3 5800m° 69,79 m’ A 313 3 94,80 m° 114,46 m’ B 303 3 4060 m°> 49,36 m’ B 313 3 5540m° 66,43 m’
A 304 3 42,90 m* 51,97 m’ A 314 3 53,90 m’ 65,30 m’ B 304 3 4040m> 49,11 m’
A 305 3 4750 m> 57,74 m’ A 315 3 72,10 m’ 87,05 m’ B 305 3 4060 m°> 49,36 m’
A 306 3 4750 m> 57,74 m’ A 316 3 53,90 m’ 64,85 m’ B 306 3 59,00 m* 72,44 m’
A 307 3 4040m> 48,61 m’ A 317 3 55,40 m’ 66,66 m’ B 307 3 5480 m° 66,62 m’
A 308 3 4040 m> 48,61 m’ A 318 3 64,50 m’ 77,61 m’ B 308 3 56,30 m> 68,21 m’
A 309 3 40,60 m* 48,85 m’ A 319 3 54,70 m’® 66,27 m’ B 309 3 56,30m’ 68,21 m’
A 310 3 40,60 m* 48,85 m’ B 310 3 79,00m’ 9522 m’



